HMIEBIFRA O RIS S = 1

(BEREJI AT )

N
/

L HNo. K = 7% 1 | S
1 EJITA Y MEBLHI 2955 H 906 3 3
2 | EJUPAHET MEB AT 2958 . 920 3 3
3 TPy MEB R 2959 i 610 3 3
4 | ARITI 24 T 6615-1 vl 1,384 10 10
5 | AkETZ4 N 6623-1 vl 1,764 10 10
6 | ARMTHZ% N 6624 il 1,440 10 10
T | AKETI 24 T 6626-2 i 684 10 10
8 | AkETIHZ% N 6629-1 i 432 10 10
9 AKHT i 2 %4 T 6630-1 il 535 10 10
10 | ASKHIHiZ 44 N 6630-3 i 666 10 10
11 | ASKETIH Z 44 N 6631-1 i 1,122 10 10
12 | ASKHTIH 2 44 T EJE 6631-2 il 908 10 10
13 | ASKHTIH 2 44 N EE 6632-2 il 778 10 10
14 | ASKHTIH Z 44 R 6633-1 il 546 10 10
15 | ASKHTIH 2 44 R 6633-2 il 764 10 10
16 | ASKHTIH 244 & 6634-1 il 428 10 10
17 |Zk5[HT T 7057-1 H 591 4 4
18 |sKkB[HT T 7057-2 5] 957 4 4
19 | #HT J& I 6111-609 il 752 6 6
20 | pkET JE L 6111-621 fH 436 6 6




